


```
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```


[illegible]

$$No0I = \begin{bmatrix} p(x) = x^5 + 2x^4 - 2x + bx^3 + c \\ q(x) = x^5 + 2x^4 - ax^2 - x^3 - 2x \end{bmatrix}$$

$$No02 = \begin{bmatrix} p(x) = x^2 + 3 \\ q(x) = 2x^2 + 5x + 2 \\ m = 5 \\ n = 2 \end{bmatrix}$$

$$No03 = \begin{bmatrix} p(x) = x^3 + 5x + 3 \\ q(x) = x^2 - 4x + 6 \end{bmatrix}$$

$$No04 = (Eq = [x^2 + 17x + 72 = (x - a)(x - b)])$$

$$No05 = (Eq = [x^2 - 8x + 25 = (x - a)^2 + b^2])$$

$$No06 = [D(x) = x^2 + 3x, Q(x) = x^2 + 2, R(x) = 3x - 1]$$

$$No07 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} a(x) = 2x^5 - 2x^4 + 2x^3 - 2 \\ b(x) = x^2 \end{array} \right] \\ .3 = \left[\begin{array}{l} a(x) = x^3 - 5 \\ b(x) = x^2 - 2 \end{array} \right] \\ .5 = \left[\begin{array}{l} a(x) = 2x^5 - 3 \\ b(x) = x^2 - 1 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} a(x) = 2x^5 - 2x^4 + 2x^3 - 2 \\ b(x) = x^3 \end{array} \right] \\ .4 = \left[\begin{array}{l} a(x) = x^4 + x^3 - 4x^2 - 4x + 2 \\ b(x) = x + 3 \end{array} \right] \\ .6 = \left[\begin{array}{l} a(x) = x^6 + 6x^3 + 5 \\ b(x) = x^3 - 3 \end{array} \right] \end{array} \right]$$

[illegible]

.....

```
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```



```
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```


[illegible]


```
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```

```
X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```

```
X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```

```
X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```



```
X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```



```
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```



```
X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```



```
X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```

```
X [Page = 0024] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```


$$No07 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} a(x) = 2x^5 - 3x^4 - 2x^2 - 2x \\ b(x) = x^2 \end{array} \right] \\ .3 = \left[\begin{array}{l} a(x) = x^3 - 1 \\ b(x) = x^2 - 2 \end{array} \right] \\ .5 = \left[\begin{array}{l} a(x) = 2x^5 - 5 \\ b(x) = x^2 + 2 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} a(x) = 2x^5 - 3x^4 - 2x^2 - 2x \\ b(x) = x^3 \end{array} \right] \\ .4 = \left[\begin{array}{l} a(x) = x^4 + 3x^3 - 2x^2 + 4x - 1 \\ b(x) = x - 3 \end{array} \right] \\ .6 = \left[\begin{array}{l} a(x) = x^6 + 4x^3 + 3 \\ b(x) = x^3 - 3 \end{array} \right] \end{array} \right]$$

```
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX M4/1-6500103-00026XX  
Real01 for No.13033
```

$$No0I = \begin{bmatrix} p(x) = 2x^5 + 2x^4 + 2x^3 + 4x^2 + a \\ q(x) = -bx^5 + cx^4 + 2x^3 + 4x^2 + 3 \end{bmatrix}$$

$$No02 = \begin{bmatrix} p(x) = x^2 - 1 \\ q(x) = 2x^2 + 3x + 4 \\ m = 3 \\ n = 2 \end{bmatrix}$$

$$No03 = \begin{bmatrix} p(x) = x^2 + 2x - 2 \\ q(x) = x^4 + 3x + 5 \end{bmatrix}$$

$$No04 = (Eq = [x^2 - 8x + 12 = (x - a)(x - b)])$$

$$No05 = (Eq = [x^2 + 8x + 65 = (x - a)^2 + b^2])$$

$$No06 = [D(x) = x^2 - 6, Q(x) = x^2 - x, R(x) = 4x + 3]$$

$$No07 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} a(x) = 5x^5 + 4x^4 + 2x^2 + 1 \\ b(x) = x \end{array} \right] & .2 = \left[\begin{array}{l} a(x) = 5x^5 + 4x^4 + 2x^2 + 1 \\ b(x) = x^4 \end{array} \right] \\ .3 = \left[\begin{array}{l} a(x) = x^3 - 7 \\ b(x) = x^2 + 6 \end{array} \right] & .4 = \left[\begin{array}{l} a(x) = x^4 + x^3 + 2x - 2 \\ b(x) = x - 3 \end{array} \right] \\ .5 = \left[\begin{array}{l} a(x) = 4x^5 + 3 \\ b(x) = x^2 + 2 \end{array} \right] & .6 = \left[\begin{array}{l} a(x) = x^6 + 6x^3 + 5 \\ b(x) = x^3 + 1 \end{array} \right] \end{array} \right]$$

[illegible]

.....

$$No07 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} a(x) = 4x^5 - 3x^4 + x^2 + 2x \\ b(x) = x \end{array} \right] \\ .3 = \left[\begin{array}{l} a(x) = x^3 - 2 \\ b(x) = x^2 + 1 \end{array} \right] \\ .5 = \left[\begin{array}{l} a(x) = 3x^5 + 2 \\ b(x) = x^2 + 3 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} a(x) = 4x^5 - 3x^4 + x^2 + 2x \\ b(x) = x^4 \end{array} \right] \\ .4 = \left[\begin{array}{l} a(x) = x^4 + 3x^3 + x^2 - 3x + 3 \\ b(x) = x - 2 \end{array} \right] \\ .6 = \left[\begin{array}{l} a(x) = x^6 + 2x^3 + 5 \\ b(x) = x^3 + 1 \end{array} \right] \end{array} \right]$$


```
X [Page = 0030] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```

```
X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```


[illegible]

$$No0I = \begin{bmatrix} p(x) = 5x^5 + ax^3 + b \\ q(x) = 5x^5 - cx^2 + 2x^3 \end{bmatrix}$$

$$No02 = \begin{bmatrix} p(x) = x^2 + 1 \\ q(x) = 4x^2 + x - 2 \\ m = 3 \\ n = 4 \end{bmatrix}$$

$$No03 = \begin{bmatrix} p(x) = x^3 - 3x^2 + 5 \\ q(x) = x^2 + 2x - 2 \end{bmatrix}$$

$$No04 = (Eq = [x^2 - 3x + 2 = (x - a)(x - b)])$$

$$No05 = (Eq = [x^2 + 2x + 17 = (x - a)^2 + b^2])$$

$$No06 = [D(x) = x^2 + 5x, Q(x) = x^2 + 2, R(x) = 6x - 5]$$

$$No07 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} a(x) = 4x^5 - x^4 + 3x^3 + 2x^2 + 4x - 4 \\ b(x) = x^2 \end{array} \right] \\ .2 = \left[\begin{array}{l} a(x) = 4x^5 - x^4 + 3x^3 + 2x^2 + 4x - 4 \\ b(x) = x^4 \end{array} \right] \\ .3 = \left[\begin{array}{l} a(x) = x^3 - 1 \\ b(x) = x^2 - 1 \end{array} \right] \\ .4 = \left[\begin{array}{l} a(x) = x^4 + 5x^3 - x - 4 \\ b(x) = x - 2 \end{array} \right] \\ .5 = \left[\begin{array}{l} a(x) = 3x^5 - 2 \\ b(x) = x^2 + 3 \end{array} \right] \\ .6 = \left[\begin{array}{l} a(x) = x^6 + 4x^3 + 5 \\ b(x) = x^3 + 3 \end{array} \right] \end{array} \right]$$

[illegible][illegible]

```
X [Page = 0034] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```



```
X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```

```
X [Page = 0037] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX  
:  
:  
:  
:  
:  
:  
:  
:  
:  
:
```

[illegible]